
I. We are given the following information about one-year derivatives for a certain underlying asset:

* Forward Price = $310.63
* 295-strike European call premium = $42.22
* 295-strike European put premium = $27.37

Determine the risk-free annual effective rate of interest. [16 #02]
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2. The spot price ofa share ofXYZ Corp. stock (a non-dividend-paying stock) is $55. The premium for a 12-month
European put with an exercise price of $65 on that stock is $10.15. The effective annual interest rate is 7%. Find
the price ofa 12-month European call option with a strike price of$65 on XYZ Corp. stock. [16 #10]
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3. Consider a stock that does not pay dividends. You are given:

1. The current stock price is 60
11. A call option with a strike price of70 and maturity in one year has a current price of 4.78

iii. The short-term risk-free interest expressed as an annual effective rate of interest is 5.55%

Calculate the price ofa put option with a strike price of70 that matures in one-year.
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